In Theorem 53, the identities satisfied by operations  $f_0, \ldots, f_n$  are stated incorrectly as follows:

$$f_0(x, y, y, z) = f_0(x, x, x, x)$$
(16)

$$f_n(x, x, y, z) = f_n(z, z, z, z)$$
 (17)

$$f_i(x, x, y, x) = f_{i+1}(x, x, y, x)$$
 and  $f_i(x, x, y, y) = f_{i+1}(x, x, y, y)$ , for  $i < n$ . (18)

The correct identities are

$$f_0(x, y, y, z) = f_0(x, x, x, x)$$
(16)  

$$f_1(x, y, y, z) = f_1(x, x, x, x)$$
(17)

$$f_n(x, x, y, z) = f_n(z, z, z, z)$$
 (17)

$$f_i(x, x, y, x) = f_{i+1}(x, y, y, x)$$
 and  $f_i(x, x, y, y) = f_{i+1}(x, y, y, y)$ , for  $i < n$ . (18)